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HELLO EVERYONE!

Our text for today:

We can no longer continue to make policy for ourselves, our country, our
continent, or our region on the basis of whatever support the western world
(France or the European Union) can give us. It will not work. It has not worked
and it will never work. Our responsibility is to charter a path which is about
how we can develop our nations, ourselves. It is not right for a country like
Ghana sixty years after independence to still have its health and education
budgets being financed on the basis of the generosity and charity of European
taxpayers. By now we should be able to finance our basic needs ourselves, our
perspective is not to be what the French taxpayer decides to do with whatever
surpluses they have in France. They are welcomed, but this continent with all
that has happened is still today the repository of at least 30 percent of the
most important minerals in the world. It is a continent of a vast arable and
fertile lands it has the youngest population of any of the continents in the
world, so it has the energy, and the dynamism; we've seen it!

By far, what do you get of the text? What is the general idea?

Europe, mainly France in the situation, is using the surplus of the tax to
give to other countries like Ghana.

- Surplus: =l |

This is what the President of Ghana (Nana Akufo Addo) said next to the
French president.

Who would like to try?
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Instructor: Put (France or the European Union) in the rj ght place )
(France or the European Union) are explaining what is the \,\;’eqtern
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Instructor: yes, you can.
We can say (We Jie Agl Jsiedl e () that’s also a very possible
translation.
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It is not right for a country like Ghana sixty years after independence to still
have its health and education budgets being financed on the basls of the
generosity and charity of European taxpayers,

Student:
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Instructor:

You should say (<\e x5 a8) not (¢ iy a5). =

Independence:; JMaiul/ Budget: 43 )/ Generosity and charity: p S
e i o Taxpayers: Gl pall aily

Student:
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Instructor: Here it is (<= ,5) not (wBua),
Student:
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Instructor: We have (sixty) not (sixtecn), '
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Student:
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Instructor:  (By now) means (now). Who else?
Student: ....... 3 Gy a1 alalinl Jy gl e (50 45 of Lie
Student:
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Instructor: Think of how we put (i 4 5) in politics.
Student: W o
Student: U skis
Instructor: fine. Who would like to try?
Student:
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Instructor: It’s not (peisl s oaid). It’s just (U=l). Who else?
Student:
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Student: 3
f(kill i) I (whatever) s 5 Of (Say Ja

Instructor: no, you cannot.

His point of view is that they should be able to finance themselves on
their own. They do not want to depend on the taxpayers because this
means when they give you money, they decide what’s happening with the
money and this is not what they want. !
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‘Student :
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Instructor: fine. Just switch the place of (Ji¥! ()
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Repository: () yia
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Continue pleasc:
~ Student:
Lanills Gl Y A0S Wl Lol LS Ao 30 AL y s Al yaal ) el )8 )
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Instructor: (Dynamism) is not (4.
Student:
: (ASpalins) Jii ol (Sas
Instructor: (4%aliy) is fine.
Student:
Instructor: yes, you can. It’s fin to say (1-1»).
Student:
Al 0 e iy L B3ae J135 Y b oon Lo Sy 801 e3 (S) p i s
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Pl Ul oy A el 5 5l Ll 130 Ll o il U gl e ST AGLS AlS
Student:
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Instructor:
You pan say (413l 4alla) or (4= U 4L13),
Student:
PRkl 4 paatea STl J 5 of LiSay Ja |
Instructor: no, you cannot. (Population)Tefers to (AlSudl slaill, '
It has the largest number of the young people when we compare it with
the other continents. In Europe, the largest number is the old people.
Student:
sl Ly et 0 Aadlally duadll ()1 Al dabian (g a3 5 a1 0a )
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RUIX)
Instructor: fine.
- Arable lands: 13l &Blla )l Fertile lands: duad byl
Student: ¥4l Aaa i Lidas '
Instructor: no, of course not.
All your translations are correct. There is no correct and final

translation.

Basil Hatim in one of his books says, “You can have g text and
have thousand translators and you can have up (0 a thousang pork
correct

translation.”
«THANK YOU»
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